/

4’.‘('_) SUOO
v )
) ®
)

rggete> ©

T0 SUCCESS

& Qs to Dhaceoss (5

10" Standard

Maths

SECOND REVISION
TEST - 2023

Various District

Question Paper Collection




WAY TO SUCCESS

Chennai
(CLASS 10 gOND REVISION EXAMINATION, FEBRUARY-2023 Rl |-+ [1]/
Time Allowed ¢ 3,00 Hours| MATHEMATICS :\:4. -.',..-L. .:- o
PART - A
I Choose the best answer of the following: t4ninid
1 If there are 1024 relations from a set A= (1,2, 3, 4. 5} 0 a set B then the number of slements in B
(@ 3 (b) 3 ¥ 4 d 8
2 If{(5, 1). (6. b)) represents an constant function, then the a-‘-u_-r,.r}._c.
@ & (b) 6 € ] d)
3 7%= (mod 100)
(@ 1 by 2 (€) 3 d) 4
4 The next term of the sequence -3 —1 —1 -—1. is
16'8 1218
1 13 .2 1
(a) 5 ) = () 3 @
8. The system three of linear equation in three variables is inconsistent if thair plane is
(a) intersect only at a point (b) Intersectin a line
(c) Coincide with each other (d) Do not intersect
3 By o
6. Findthematnxx|f2x+[5 . (g 5)
-2 -2 2 2 1 2 2° 1
(a)[ ] <b:(2 _1) | m(z 2] {dg,(? 2)
7. The graph of the quadratic equation is always
{a) hyperbola (b) Straightline () , Circle (d} Parabola
8. InALMN, ZL =60° Z£M = 50°. If ALMN ~ APQR then the value of ZR is
(a) 40° (b) 70° (€) 309 (d) 110°
9. Ifslope of the line PQ is 13 then slope of the pefpt'ﬂdicular bisector of PQ is
(@ V3 () 3 © MaF (d) 0
10. tanf cosec™d - tanb is equal to
(a) sech (b) cot*® c) sin® (d) cot@

11.  The angle of elevation of a cloud from the & point h meters above a lake isP . The angle of depression of its
reflection in the lake is 45°, the height of l6action of the cloud from the lake is
(@) hiitanp) (b) Did:tan (¢) htan(45°-B) (d) noneofthese

1-tan :- 1+tanp
12. Ifthe radius of the base of a right circular cylinder is halved keeping the same height, then the ratio of the

volume of the cylinder thus obtained to the volume of origanal cylinder is

(a) 12 , (b) 14 () 16 (d) 18
13. Variance of first 20 natural numbers is
(a) 3225 : (b) 4425 fc) 3325 (@ 30
14. Probability of the sure event is
{a] Ry ®) 0 (€ -1 (d) 2
- PART-B

al' any 10 questions. [Question No. 28 is compulsory]. 10x2=20

N/L&A {3, 4,7, 8} and B = {1,7,10}. Which of the following sets are relations from Ato B?

f’*} .={(3,7). (4, 7),(7,10), (8, 1)} 1)) R,={(3,1), (4,12)}
Tl Ina whether the graph given below represent functions. Give reason for your answers conceming

b G

rﬁ ®
-iiﬁ.

the greastest number that wrll divide 445 and 572 leaving remainders 4 and 5 respectively.
If1’*2‘1»3’+ ek K= 44100 then find 1 +2 + 3 + .
1 wtsteam 1 00@gmail.com
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W that the giver

: nite are
te s fiving ot a heilght of 7¢ N !

the ground The inclination of the i

e s Nno Sick i the string

g the volume of a cylinder whose hewght is > oy "
"the 1otal surface srea of a cone of radi . ol &
the range and the smallest value of & sel of dats »re 388 and 13 4 respect .

‘. die Is rolled and a coin it tossed simultane oy Firat ik Brobatiility thet & - y g .

e com shows a head .
48 Find the intercepts made by the line 4x . gy + 3¢ e
i Answer any 10 questions only [Q.NO: 42 is u:or::‘m|T b L
<8 Let A=The set of all natural numbers less than 8 llu_s;);yl i e | "

5 = The set of all prime numbers B r

of even prime number. Verify that (ANB)xC=(AxC)N(BxC)

I f(x) = 2x+3, g(x) = 1-2x and h(x) = 3x Prove that f o (goh)=(fog)oh

ifp," X p,"xp," xp = 113400 where p,. p,. p,. p. aer primes in ascepdindrder and,

find the value of p,. p,, p,. p,and x,, x,, x,. x, '
32 The product of three consective terms of a Geometrc Progressiah is 343 angd their sum s

terms
1 2 1 4 =1
33 WA= and B={ -1 4| show that (AB)" = B'A"
23=1 9 0 2

34 Find the GCD of the polynomials x*+x*-x+2 and 2x-5x24+8x-3
35  Ifone root of the equation 3x* + kx + 81=0 (having real rootSHI€ the square of the other then find k
36 State and prove Basic proportionality Theorem (Thalés Theorem)
37  Show that the given points form a parallelogram
A(2.5, 3.5), B(10, -4), C(2.5, -2.5) and D(-5, 5)
38. A mobile phone is put to use whepth@hattery power is 100%. The percent of battery power 'y
remaining after using the mobile phone fofix hours is assumed as y = -0 25x + 1
i)  Find the number of hours elapsed if the battery power is 100%
if) How much time does/t take o that the battery has no power

1250 oSG |t "ol
PG OIVe it ( 1 + sinf % cos ) 1 + cos0

40. The frustum shaped outer portian.of the table
lamp has to be*ps’inted including the top part. Find the total cost
of painting the lamp if the cost of painting 1 sq. cm is I2
. 41.  Inastudy abou M@fever. the number of people affected in a town were noted as Find its standard deviation
nyears 0-10 10-20 | 20-30 | 3040 40-50 5060 60-70]
of people affected 3 5 16 18 12 7 4 |
45 in the shape of a cylinder with two hemisphere stuck to each metits ends If the length of

the entire

42. f A =
. ca ule & 12 mm and the diameter of the capsule is 3 mm, how much medicine it can hold
‘“o.\ 7 PART - D
V. A r the following questions. 2xBx16
Tl the graph of xy = 24, X, y >0: Using the graph find, (i) y when x=3 and (ii) x when y=6

y (OR)
b) Draw the graph of y=x*+x-2 and hence solve x*+x-2=0. |
44. a) Constructa triangle similar to given triangle PQR with its sides equal to 7/3 of the corresponding sides
of the triangle PQR(scale factor 7/3>1) (OR) »
b) Construct a triangle APQR Such that QR = § cm, £P = 30° and the altitude from P to g:;lsl?f\lzl?ng!:
/Mat/ &

4.2cm. :

WWw.waytosuccess.org 4 2 y wtsteam 100@gmail. co
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BrRpL] DPHARMAPUR! — DT
SR-NKL SECOND REVISION TEST - 2023
Reg
10 Std No.
Time: 3.00 Hrs MATHEMATIQS | ° Marks : 100
PART -1
Answer All the questions. 14X1=14
1.

If there are 1024 relations froma setA={1, 2, 3, 4, 5} to a set B. Then the
number of elements in B - '

a) 3 b) 2 c)4 | d) 8

. If f: A — Bis a bijective function and if n (B)=7 then n(A) is equal to
a)7 b) 49 c) 1 d) 14

. If HCF of 65 and 117 is expressible in the form of 65m-117,then the value of m is
a) 4 b) 2 )1 d) 3 |

. The value of (13+23+3%.......... +16%) - (14243, . .. +15)
a) 14400 b) 14200 c) 14280 d) 14520

. Which of the following should be addedto make x*+ 64 a perfect square
a) 4 x? b) 16 x? c) 8.x? d) -8 x2

. If number of columns and rows are not equal in a matrix then it is said to be a
a) diagonal matrix b) rectangular matrix
c) square matrix . d) identity matrix

.In ALMN, L ='60°|M = 50°% If ALMN ~ APQR then the value of|[R is

a) 40° b)\70° c)30° d) 110°

. The area of triangle formed by points (-4, 0 ), (0,-4) and (4,0) is

a) 0 sq.units b) 16 sq.units  c)4 sq units  d) None of those

. 1
. If slope of the line PQ is -\/—5 then slope of the perpendicular bisector of PQ is

1
a) /3 b)- /3 )f d) 0

10" - Maths -SR-NKL- Page-1
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10.If sin@=cos@ then 2tan= O+sin2 O-1is equal to L

-3 3 2 =

a) 5 b) 5 c) 5 d) 5
11.The curved surface area of a height circular cone of leight 15 cm and base

diameter 16 cm Is
a)60 Tcm? - b)687cm ? c) 1207cm? d) 1367cm*
12. A Spherical ball of radius r, units is melted to make 8 new identical balls each

of radius r, units Thenr,:r, is

a)2:1 b)1:2 c)4:1 d)1:4
13. Variance of first 20 natural number is
a) 32.25 b) 44.25 c) 33.25 d) 30

14. which of the following is incorrect? )
a) P(A) >1 b) 0 < P(A) <1 c)P(¢4 )=0 d)P(A) +P(A)=1

PART -1l
Answer any 10 Questions. Question No.28 is compulsory. 10X2=20
15. LetA={1,2,3}and {B =x/xis aprime ndmber less than 10}. Find AXB

and BXA
16.1f A={-2,-1,0,1,2}and f: A~ B is/anonto function defined by

f(x)=¥2+ x+1then find B.

17. Solve 3x-2=0 (mod 11).

18. Find the LCM of (5x-10), (6.x%-20) . |
19. Find the quaratic equation whose sum and product of roots arel-Q, 20

543 A
20. If 47 I =7 M then find the transpose of A &
3 8 _2_ - ©

21. In the Figure AD is the bisector of LA If BD=4cm, DC=3cm gz 3em ©

AB=6cm, Find AC
22. |If the three point (3,-1) (a,3) and (1,-3) are collinear. Find the value of a

23. Find the equation of a line passing throught the point (3,-4), and having slope

=2
7

10" - Maths -SR-NKL- Page-2
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24. From the top of a rock 50./3 m high Thes angle of depression of a car on the
ground is observed to be 30°, Find the distance of the car from the rock.

25. Find the diameter of a sphere whose surface area is 154 m2,

26. It the lange and the smallest value of a set of data area are 36.8 and 13.4
respectively, then find the largest value.

27. Two dice are rolled together Find the probability of getting a doublet?

PART - Il
Answer any 10 Questions. Question No.42 is compulsory. 40X 5 =50
29. Let A={xew/x<2},K B={ xeN[1<x<4} and C={ 3, 5} verify
Ax(BnC)=(AxB)n(AxC) -
30. If f(x)=x2%,g(x)=2x and h(x)=x+4 slow that (fog) oh= (fo)(goh)

31. In a G.P the 9" term is 32805 and 6" term is 1215. Find the 12""term

32. Rekha has 15 square colour papers of size 10 cm , 11 cm,
12 B 24cm. How much area can be decorated with these

colour papers ?
33. If 36x*-60x’+61x* —mx+n is a perfectsquare Find the values of m and n

a=(t V=" 2] =[50 verify that AB+C)=AB+AC
34.1f 4={_, ;}B=_4 2/ 3 g verify that A(B+C)= :

35. State and prove angle bisecetortheroram .

36.A triangular slaped glass of with vertices at A=(-5,-4), B=(1, 6)and C = (7, -4)
has to be painted. It one bucket of paint covers 6 square feet, how many buckels
of paint will be required to paint the whole glass if only one coat of paint is applied.

37. A(-3,0) B (10,-2 ) and C (12, 3) are the vertices of a tnangle ABC. Find the
equation of the altitude through A.

38" [f sing(l +sin? @) =cos> 6 then prove that cos®0-4cos*+8cos? 6=4

39. The radius and height of cylinder are in the ratio 5 :7 and its curred surface area

is 5500 sq cm Find its radius and height

10" - Maths -SR-NKL- Page-3

- ————————
www.waytosuccess.org 3 wtsteam 1 00@gmail.com




WAY TO SUCCESS

40.A solid sphere of radius 6 cm is melted into a hollow cylinder of uniform thickness.
If the external radius of the base of the cylinder is 5 cm and its height is 32 cm,
then find the thickness of the cylinder

41. The marks scored by 10 students in a class test are 25, 29,
30,33,35,37,38,40,44, 48 Find the standard deviation.

42 There unbiased coins are tossed once. Find the probability of getting at must 2
tails or atleast 2 heads.

PART - IV
Answer the following. 2X8=16

43.a) Construct a APQR such that QR = 5cm [P = 30° and the altitude from P to
QR of length 4.2 cm

(OR)
b) Draw a circle of diameter 6 cm from a point P, Which is 8 cm away from its
centre. Draw the tangents PA and PB to the circle and measure their lengths.

44. a) Draw the graph of y =x*- 4 and henee solve X —x—12=0
(OR)

w, < : I .
b) Graph the following linear function y = 5 X Identify the constant of variation

and verifty it with the graph. Also find y when x=9
ii) find xwheny=17.5

B SUGADEV-™M.Sc L B.Ed.
MATHE WMAT | &<
P4 8148 lo b2 -2-

10" - Maths -SR-NKL- page.4
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Mayiladuthurai

MAYILADUTHURAI DISTRICT - Common Revision Test - 2 (2023)195
10 - Mathematics - District Level Revision Test -2 (2023)
10th Standard

Math
N Date : 06-Feb-23
Draw Diagrams whenever necessary Reg.No. :
Rough Works may be done at the bottom of answer sheets

Exam Time : 03:15:00 Hrs

Total Marks : 100
Choose The Best Answer 14x1=14

1) If there are 1024 relations from a set A = {1, 2, 3, 4, 5} to a set B, then the
number of elements in B is

(@) 3 (b) 2 (c) 4 (d) 8

2) The probability of an impossible event is

@ 0 (b) 1 (¢ % (d) Not exists

3) The two tangents from an external points P to a cirele with centre at O are
PA and PB. If ZAPB = 70° then the value of ZAOB is

(&) 100° (b) 110° (c) 120° (d) 130°
4) The slope of the line joining (12, 3), (4, a)is %. The value of ‘a’ is

@ 1 (b) 4 (¢) -5 (d) 2
S5)If x = a tanf and y = b secf then

(a) %—j—jzl (b) 2%:—?;—2:1 (c) -;;:4_%:1 (d) g_%:o
6
) Find the matrix X if 2X + (1 3) _ (5 7)

5 7 9 5

-2 -2 2 2 1 2 2 1
(a) ( 5 _1) () (2 _1) (c) (2 2) (d) (2 2)

7)If (x - 6) is the HCF of x? - 2x - 24 and x? - kx - 6 then the value of k is
(@) 3 (b) 5 (c) 6 (d) 8
8) Sum of deviations of a variable from its mean is always
(@) 0 (b) 1 (¢) 2 (d) 5

9) If the radius of the base of a right circular cylinder is halved keeping the
same height, then the ratio of the volume of the cylinder thus obtained to
the volume of original cylinder is

@ 1:2 (b) 1:4 (¢) 1:6 (d) 1:8

10) Let f and g be two functions given by
f=1(0,1), (2,0), (3,-4), (4,2), (5,7)} ,
g = {(0,2), (1,0), (2,4), (-4,2), (7,0)} then the range of fo g is

(&) {0,2,3,4,5} (b) {4,1,0,2,7} (¢} {1,2,3,4,5} (d) {0,1,2}

www.waytosuccess.org E wtsteam 1 00@gmail.com
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11)If AABC is an isosceles triangle with ZC = 90° and AC = 5 cm, then AB is
(@ 2.5cm (b) S5cem (€¢) 10 em (d) 54/2em

12) An A.P. consists of 31 terms. If its 16% term is m, then the sum of all the
terms of this A.P. is

@ 16m () 62m (€) 31 m (d) 321111

)
13) A straight line has equation 8y = 4x + 21. Which of the following is true
)

(@) The slope is 0.5 and the y intercept is 2.6
(b) The slope is 5 and the y intercept is 1.6
(¢) The slope is 0.5 and the y intercept is 1.6
(d) The slope is 5 and the y intercept is 2.6

14) The total surface area of a cylinder whose radius is —of its height is
(a) 97’8"'2 sq.units (b) 247h? sq.units () 8’;"2 sq.units (d) 56’;}"2 sq.units
Answer any 10 10 x 2 = 20

Question Number 28 is Compulsory

15) Check whether AD is bisector ZA of AABC in each of the following AB =
Scm, AC = 10cm, BD = 1.5¢cm and CD = 3.5¢m

16) Determine the quadratic equations, whose sum and product of roots are
-9, 20

17) A man has 532 flower pots. He wants to arrange them in rows such that
each row contains 21 flower pots. Find the number of completed rows and
how many flower pots are left over.

18) Find the angle of elevation of.the top of a tower from a point on the
ground, which is 30 m away from the foot of a tower of height 104/3m

19) Write the sample space for selecting two balls from a bag containing 6
balls numbered 1 to 6 (using tree diagram).

20) Represent the funetion f = {(1,2),(2,2),(3,2),(4,3),(5,4)} through
(i) an arrow diagram

(ii) a table form

(iii) a graph

21)If P(A).= 0.37, P(B).= 0.42, P(ANB) = 0.09 then find P(AUB).
22) What is the remainder when 32%? + 5% is divided by 8?

23) Find the sum of the following
3,7,11....up to 40 terms

24) What happens to the volume of the cylinder with radius r and height h,
when its
(@) radius is halved (b) height is halved

25) [ /7T —3]
If A= —\/E 2 then find the transpose of -A.

L V3 5

26) The length of a tangent from a point ar a distance of 5 cm from the center
of the circle is 4 cm. Find the radius of the circle

www.waytosuccess.org 8 wtsteam 1 00@gmail.com
24




WAY TO SUCCESS

27) Find the equation of a straight line passing through the mid-point of a
line segment joining the points (1, -5), (4, 2) and parallel to: X axis

28) Let f{(x, y)| x, y € N and y = 2x}. be a relation on N. Find the domain, co-

domain and range. Is this relation a function?
Answer any 10 10x 5 =30

Question Number 42 is Compulsory

29) Fmd the GCD of the following b y division algorithm 2x* + 13x> +
27x°+23x+ 7, x>+ 3x2 +3x+ 1, x* +2x + 1

30) State and Prove - Angle Bisector Theorem

31) From the top of a tree of height 13 m the angle of elevation and
depression of the top and bottom of another tree are 45° and 30°
respectively. Find the height of the second tree.(v/3 = 1.732)

32) Final the probability of choosing a spade or a heart card from a deck of
cards.

33) Find the equation of a straight line Passing through (1,-4). and has
intercepts which are in the ratio 2:5

34) Find the value of k, such thatfog=gof
flx) =3x+ 2, glx) =6x-k

35) A company has four categories of employees given by Assistants (A),
Clerks (C), Managers (M) and an Executive Officer (E). The company provides
Rs.10,000, Rs.25,000, Rs.50,000 and Rs.1,00,000 as salaries to the people
who work in the categories A, C, M and E respectively. If A, As, Az, A4 and
Az were Assistants; Cq, Co, Cs, C4 were Clerks; M, My, M5 were managers
and Eq, E;, were Executive officers and if the relation R is defined by xRy,
where x is the salary given to person y, express the relation R through an
ordered pair and an arrow diagram.

36)If a, b, c are three consecutive terms of an A. P and XE v, z are three
consecutlve terms of G.P then prove that x” ¢ x y* x z%

37) Priya earned Rs.15,000 in the first month. Thereafter her salary increased
by Rs 1500 per year. Her expenses are Rs.13,000 during the first year and
the expenses increases by Rs.900 per year. How long will it take for her to
save Rs.20,000 per month

38)If 9x* + 12x° + 28x? + ax + b is a perfect square, find the values of a and
b.

39) Show that the given points form a parallelogram : A(2.5, 3.5), B(10, - 4),
C(2.5, -2.5) and D(-5, 5)

40) 3

1
IfA = [ 2] show that A% - 5A + 715 = O
41) Two dice are numbered 1,2,3,4,5,6 and 1,1,2,2,3,3 respectively. They are

rolled and the sum of the numbers on them is noted. Find the probability of
getting each sum from 2 to 9 separately.

42) The frustum shaped outer portion of the table lamp has to be painted
including the top part. Find the total cost of painting the lamp if the cost of
painting 1 sq.cm is Rs.2.

www.waytosuccess.org 9 wtsteam 1 00@gmail.com
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Answer the Follwoing 2x8=16
43)

a) Draw the graph of y = x? + 3x + 2 and use it to solve x? + 2x + 1 = 0

(OR)

D) A garment shop announces a flat 50% discount on every purchase of
items for their customers. Draw the graph for the relation between the
Marked Price and the Discount. Hence {ind

1. the marked price when a customer gets a discount of Rs.3250 (from
graph)

ii. the discount when the marked price is Rs.2500.

44
) a) Construct a AABC such that AB = 5.5 cm, ZC = 25° and the altitude

from C to AB 1s 4 cm.

(OR)

B) Draw a circle of radius 3 cm. Take a point P on this circle and draw a
tangent at P.

-—-All the Best——-

ek Fririnirinie dnlrininiol dricinininiedolniointe deiniolninl sndainiolnl dnleke-
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"' COMMON SECOND REVISION TEST - 2023

fa v PQQ' Standard X Regho| | | |
Dickwel MATHEMATICS
Time : 3.00 hrs Part - | Marks : 100
I. Choose the correct answer: 14x1=14
1. The range of the relation R = {(x, x? / x is a prime number less than 13) is
a) {23.5.7) b) (2,3.5.7,11) c) {4,9,2540,121) @) {1.4,92546 121}
2. Iff(x) = 2x? and a(x) = }éx .then fog is
3 _ 2 2 i
% B 3 9 g7 D o
3. The sum of the exponents of the prime factors in the prime factorization of 1729 is
a) 1 b) 2 na c)3 d) 4
4 Thevalueof (13+23+3%+ #1569 —(1+2 +3 ... +15)is
a) 14400 b) 14200 ©) 14280 dy 14520
5. The LCM of 2, a**3, a**5 where keN is .
a) a*° b) a* c) ak*é d) ak*3

6. Which of the following can be calculated from the qiven matrices?

3 23
B=|4 5 b
' 7 89

i) A? iy B? - iiyAB iv) BA
a) (i)and (i) only b) (ii)and (ii)only ¢) (i)and (iv)only  d) all of these

7. The two tangents from an external points P to a circle with centre at O are PA and PB.
Iif ZAPB = 70° then the value of ZAOB is

a) 100° b} 110¢ c) 120° d) 130°
8. The point of intersection of 3x —y =4 and X4y= 8is ' .
a) (5.3) b) (24) c) (3.5) d) (4.4)

9. When proving that a quadrilateral is a parallelogram by using slopes you must find
a) the slopes of two sides
b) the slopes of two pair of opposite sides
c) the lengths of all sides
d) both the lengths and slopes of two sides
10 Ifthe ratio of the height of a tower and the length of its shadow s /3 . 1, then the angle

of slevation of the sun has measure

a) 45° b) 30° g) 90° d) 60°
11. The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will

be

a) 12cm b) 10 cm ¢) 13 em d) 5¢em

12. A spherical ball of radius f, units is melted to make 8 new identical balls each of radius
r, units. Thenr,  r, is
g 2:1 ) J i c)4:1 d) 1:4

www.waytosuiceess.org ; gk wtsteam100@gmail. com
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2) Hmth!
13 Whaeh of the following is not @ measure of disperson S
aj range D) Stanuaid deviation b
o) vanance

¢) arithmetic mean

s4 The probatility of qatting a joh for apersun is X5 Ithe probability of nolgnlhnﬂlhﬂlﬁﬁ

F is 2., Then the value of x 1s
8 2 b) 1 : k! d) 15

Part - Il
Il. Answer any 10 questions. (Q.No.28 is compulsory)
15 UBxA={(-2.3). (-2.4), (0.3) (0.4). (33) (34)} findAand B

16 Represent the function f = {(1.2). (2.2). (3.2}, (4.3), (5.4)} through

10%x2-20

1) an arrow diagram i) a table form i) a graph
17 Find the nexi three terms of the sequence ' 8, 24 72.
18 Findthesumof 1+ 3+ 5+ + 55

- x-'
19 Reduce the rational expressions to its lowest form 17;%

5 4 3

20 wh -yt -7 9  then find the transpose of A
3 8 21

21 Find the length of the tangent drawn from a point whose distance from the centre of a
gircle is 5 ©m and radilis of the cucie s 3 ¢m

22 Fndthe siope of the straight ine 5y - 3 =0

23 Preve that tan?o — sin?i = tan?o sin?i

24  the base area of @ hemisphencal solid 15 154 sq metres, then fing its total surface
area.

M the ratio of radn of two spheres s 4 7 find the rahio of their volumes

25 Find the range and the coefficient of range of the following data

16 18, .20 22 .24 26 28

Two cains are tossed together What is the probabiity of getting different faces on the

27
coms”’
28 Show that the points P(-1 5. 3;. QtG. ~2) (=3 4) are collinear
Part - Il
. Answer any 10'questions. (Q.N9.42 js compulsory) 10x5=50

29 CwenA={123) B=(235) C=13,%F and D ={1.35} check i
(A C)xiB - D)=(AxB) (CxD)isire?
30 M f(x) = 3x - 2, g(x) = 2x + k and if fog = gol. then find the value of k

31 Find the HCF of 366 504, 636
32. Find the sum 10 n terms of the setS 34133 + 333 + .« -, 1O N l@IMs.
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e X Maths
mﬂhmnmmﬂm yn by division method 3?!2—2323-!4:‘4»'421 +g !
e

l -
f 2 “’ and B~ ; _show that(AB)" = BT AT
LY %

34 IfA -
35. Stale and prove Angle Bisector Theorem
36. Find the area of the quadrilaleral whose vertices are at (-9.-2), (-8,~4), (2.2) and (1 -3,
g Find the equation of the siraight line which passes through the point of intersection of
~ W@ lines 5x - By = 1 and 3x + Zy + 5 = 0 and is perpendicular to the straight iine
=8y + 11 =0 |
WO Ships are sailing in the sea on eilher sides of a Lighthouse. The angle of elevation |
ofthe tap of the Lighthouse as observed from the ships are 30° and 45° raspectively

if the Lighthouse 1s 200 m high, find the distance between the two ships. [y3 - 1.732|

'Tﬁem and external diameter of a hollow hemispherical shell are & cm and 10 cm
respectively If it 1s melted and recast into a solid cylinder of diametar 14 cm, then find
the height of the cyl'mder
40 The amount of ranfall in a particular season for 6 days are aivenas 17.8¢c¢m, 192 em
163 cm. 12 5cm 12 8 cm and 11.4 cm Find its standard deviation
41 Three unbiased coms are tossed once, find the probabilily of getting atmost 2 tails or
alleast 2 heads
42, An industrial metallic bucket is in the shape of the frustum of a night circular cone
whose top and boltom diameters are 10 em and 4 m and whose height is 4 m. Find
the curved and total surface area of the bucket.
Part - IV
V. Answer all the questions. 2x8=16
4% a) Construct a tnangle \POR such that OR = 5 cm, 2P = 309 and the altitude from
=1 P to QR is of length 4.2 cm.

(OR)
b) Take a point which is 11 cm away from the centre of a circle of radius 4 cm and
draw the ' tangents 10 the circle from the paint.
44 a) A company nially started with 40 workers to complete the work by 150 days
Later, Itdecided to fasten up the work increasing the number of workers as shown

Number of workers (x)) | 40 | 50 | 60 | 75 |
Number of days (y) 150 | 120 | 100| 80

i1 Graph the anove data and identify the type of variation
i) From the graph. find the number of days required to complete the work if the :
company decides lo opl for 120 workers?
it} Ilthewark has lo be completed by 200 days. how many workers are required?
(OR)
b) Graph the quadratic equation and state thewr nalure of solutions

i e = B W vae M, Se., B Ed
1 ' Maths Facixlby
NFN?I ) 'PJG‘!'*]?:?

—
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|@l Sivagangat _— =

COMMON SECOND REVISION TEST - 2023

Standard X Rég-No.s
MATHEMATICS
Time: 3.00 hrs. Part - | Marks: 100
I. Choose the correct answer: 14x1=14
1. If there are 1024 relations from a set to A = {1,2,3 4,5} to a set B, then the
number of elements in B is :
a) 3 b) 2 c) 4 d)8
2. f(x) = (x + 1)3 = (x = 1)* represents a function which is
a) linear b) cubic ¢) reciprocal d) qu
3. If the HCF of 65 and 117 is expressible in the form of 65m -
value of m is p
a) 4 b) 2 c) 1 .
4 Thevalueof (13+23+33%+ +15%) - (1+2+ 347700
a) 14400 b) 14200 c) 14280
5. The solution of (2x — 1)? = 9 is equal to
a) -1 b) 2 Q d) none of these
6. ,;3 -I-i =
X-y y-X '
a) Xy b) x2-y2 -- +xy+y?  d)P-xy+y?
7. How many tangents can be drawn to ctrdafrmnauxteﬂarpuint?
a) one b) two /¢ infinite d) zero
8 The area of triangle formed by the points (~5,0), (0.-5) and (5,0) is
a) 0sq.units by ¢) 5sq.units d) none of these

' ,
0% =7=0 b) x+y=3;3x+y=7
c) 3x+y d) x+3y=-3=0;x-y=-7=0
10. If the ratié of the heigh of a tower and the length of its shadow is /3 : 1, then
the elevation of the sun has measure
8) 45° b) 30° c) 90° d) 60°

ol

8. (21)islhepuim

ace area of a cylinder whose radius is 14 of its height is

th

“§ 4.units b) 24xh? sq.units
Bxh? 56xh?
¢ ~5 sq.units d) H’-‘- . 8q.units

12. The probability of getting a job for a person is X4 . I the probability of not

i/
getting the job is 23 , then the value of x is

0 2 b) 1 o) 3 @15

www.waytosuccess.org 14 wtstearn 1 00@gmail.com
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13. Variance of first 20 natural number is
a) 3225 b) 4425 ¢) 3325 d) 30
14. The ratio of the volumes of cylinder, a cone and a sphere, if each has the same
radius and same height is
a) 1:2:3 b) 2:1:3 c) 3.1 4 dy3:1:2
Part -l
Il. Answer any 10 questions. (Q.No.28 is compulsory) 300330
15. LetX ={1,2.34}and Y = {2,4.6,8.10) and R = {(1.2}, (2.4), (3.6), (4.8)}. Show that
R in a-function and find its domain, co-domain and range
16. Find k if fof(k) = 5 where f(k) = 2k - 1
17. 1f 13824 =23 x 3 then find a and b
18. Findthesumof 13423 +3%+ _  _ +16° q )
53 ‘Q)
19 1t A= *‘g’ ‘25 . then find the transpose of A. ;
20. Find the length of the tangent drawn from a point Whose distance from the centre
of a circle is 5 cm and the radius of the circle is 3¢
21. Show that the given points are collinear ' (=3, 2ydnd (12.5)
' (5.-3) and (7.—4)

22 Find the equation of a straight line passi

23.

3
32

1 +cosb
1-cosé

Prove that = cosech + cot .7

Find the top of a rock 50./3-mub

any 10 questions. (Q.No.42 is compulsory) 10x5=50
eW/x<2),B={xcN/1<xs4)andC = {35}, venfy that
)= (AxB)(AxC)

Let f : A-»B be a function defined by flx) = 5 = 1 where

A = (2,4,6,10,12}, B = {0,1,2,4,5.9) represent by (i) set of ordered pars , (i) a
table (iii) an arrow diagram (iv) a graph
Find the sum of all natural numbers betwean 300 and 600 which are divisible by 7

Rekha has 15 square colour papers of sizes 10cm, 11cm, 12em = 24 cm How
much area can be decorated with these colour papers?

'

www.waytosuccess.org e wtstearn 1 00@gmail.com
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33

34

35
36
37

38
39,

40

41.

42.

V.
43.

LL_.E‘_JJ —_— e

(3) X Maths

x* + bx? + 3612 ‘
a +220x + 100 is a perfect square, find the values of a and b

A:(a b] and I::[I 0
ic d 01 .Showﬂ\ataz{aq-d}p.:(bc..ad“z .

State and prove Pythagoras theorem
Let A(3.~4), B(9.~4), CE-7). D(7 ~7). Show that ABCD is a trapezium

ﬁ"dn;“efq“'“:“_"' a straight line joining the point of intersection of 3x + y + 2 =
Oandx -2y - -Utﬂfhsnmmmmterucﬁonof?x-ay =-12and 2y = x + 3+

Prove that tan? A — tan?g - SIN“ A -sinB
cos® Acos? B .
Arul has to make arrangements for the accommodation of 150 persofE”
family function. For this purpose, he plans to build a tent which isn
cylinder surmounted by a cone. Each person occupies 4 sq.ri of the sg
ground and 40 cu.meter of air to breadthe. What should-be-the heigh!
conical part of the tent if the height of cylindrical par is 8 ? :
The amount of rain fall in a particular season for 6 days are give
19.2cm, 16.3 cm, 12.5 cm, 12.8 cm and 11.4 cm, Find its standard deviation
A'card is drawn from a pack of 52 cards Find the probability
heart or a red card.
Two ships are sailing in the sea on eithergide of the Lighthouse. The angles of
depression of two ships as observed from th

45° respectively. If the distance between the ['75"‘ metres, find the
%
height of the Lighthouse.
Part - IV -
fons.,, ./ 2x8=16

PQ =8 cm, R = 60° and the median RG from R
indithe length of the aititude from R to PQ
| (OR)
ngents from a paint which is 5 cm away from the centre of a circle
_Also, measure the lengths of the tangents.

ments shop announces a flat 50% discount on every purchase of items
Weir customers. Draw the graph for the relation between the Marked price

Discount. Hence find
“wu).  the marked price when a customer gets a discount of ¥3250 (from graph)
i) the discount when the market prices 12500,
(OR)
b) Draw the graph of y = x2 = 4x + 3 and use it to solve X2 -Bx+9=0

www.waytosuccess.org 16 wtstearmn 1 00@gmail.com
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Tenkasi
Ts10M Tenkasi District Common Exammation LUIID
C_gmmon Second Revision on -
L0 D2 2 PR3 Standard 10 Marks: 100
Time: 3.00 Hours MATHS

PART -1 =14
Note: i) Answer all the questions. b2
il) Choose the best answer
1) If {(a,8) (6, 6)} represents an identity function, then t
25, 6) b ) d) 5, &)
a 8,8 c < th
2) If 6 times of 6" term Lg an lzP is equal to )7(times the 7t term, then the 13
term of the AP is

he value of a and b are

a) 6 b) 13 )0 d) 7 e
3) Ifthe sequencet,, t,, t,, ........ are in A.P then the sequence ty, t;p, tigio: '
a) neither an Ari 1hmetlc progression nor a Geometric progresston
b) an Arithmetic progresson
c) a constant sequence
d) a Geometric progression
4) A system of three linear equations in three variables is inconsistent if their planes
a) coincides with each other b) interest in & line
c) do not intersect : d) intersect only at a point
13549 :
5) Forthe given matrix A = | 2 4 6 8§ | the order of the'matrix ATis ........
9111315)
a)3x4 b) 4 x c)2x3 d23x2
6) In the given figure £BAC = 90° and AD 1 BC then™.......
a) AB.AC=AD? b)BD.CD = AD?
c) AB.AC = BC? d) BD.CD = BC?
7) A tangent is prependicular to the radius atthe ...........
a) Point of contact b) Infinity
c) chord d) centre 0 ¢
8) The straight line given by the equation x = 11 is
a) Parallel to Y axis_ b) passing through the point (0,11)
c) Parallel to X axis d) Passing through the origin
9) If (5, 7) (3, P) and (6 6) are collinear, then the value of P is ..........
a)6 b) 9 c)3 d)12
10) If(sm+ooseou)2+(cos:z+sea1)2 =K + tan’a + cot?a., then the value of K is equal to
a)9 b) 3 c)5 d)7
11) A frustum of a right circular cone is of height 16cm with radii of its ends as
8cmand 20cm. Then the volume of the frustum is ........ cm3.
a) 3228n b) 3340n c) 3328n . d) 3240n

12)1f the Total surface area of a solid right circular cylinder is 200r cm? and its
radius is 5ck, then the sum of its height and radius is .......

a)20cm b) 25cm ¢) 30cm d) 15cm
13) If A and B are mutullay exclusive events then P(AnB) is .........
a)l b)-1 c)0 d) 2
14) Which of the following is incorrect?
a)P(A)+P(A)=1 b)0<P(A)<1 c)P(A)>1 d) P(@) =
PART -II 10x2=20

Answer any ten of the following. Question Number 28 is compulsory.
15) A Relation R is given by the set {(x, y)/y = x + 3, xe {0, 1, 2, 3} Determine
its domain and Range.
16) Find fog and gof when f(x) = 2x + 1 and g(x) = x? - 2.
17) Find the indicated terms of the sequences whose n""termisa =—— , a
and a,, n+2 '8
18) Find the sum of the series 3 + 6 + 9 + .... + 96.

19) Determine the nature of the roots: /2t> — 3t 4+ 32 =0

53 & ra()) oz} c=[? 6] —
waytosu Jde Slorgls 3 [l find the matrix D, suchtthat C+D=A+B
21) Find the square root of the following: 9x? - 24xy + 3% e%&% Q-O@gﬂlailﬁ?“’m
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Ts\OM 3
22) The perimeters of two similar triangles ABC & PQR are

4
resectively 36cm & 24 cm. 1If PQ = 10, find AB 8 :
23) The \ine through the points (-2,a) and (9, 3) has slop ¢ 8
“Z_ . Find the value of a. o
24) Atower stands vertically on.the ground. From a point .
A
a

on the ground, which is 48m away from the foot of ©
the tower, the angle of elevation of the top of the
tower is 30°. Find the height of the tower.

25) The volume of a solid right circular cone is 11088cm?, If its height is 24cm then find
the radius of the cone.

26) The volumes of two cones of same base radius are 3600cm? and 5040¢m?.
Find the ratio of heights.

27) Adieis rolled and a coin is tossed simultaneously. Find the probability that the die
shows an odd number and the coin shows a head.
28) Show that the square of an odd integer is of the form 4q +1, for some integer .
PART - III 10x5=50
Answer any ten of the following. Question Number 42 is compulsory.
29) LetA={xeN/1<x<4},B={xeW/0sx<2})andC=4{xe N/ x< 3}

Then verify that A x (B A C) = (A x B) n (A xC) 6X+1; §a'x <2
30) A function f:[-5, 9] — R is defined as follows: f(x)=|5x* -; 2<x <6
.zﬂz)___f(i)-“\ﬁ\ 3X-4;6SXS9'

i) f(-3) + f(2) Y o £1 . 4~ Boren

MLCELRTAYY (R0 PREL 1 e

31) Thesumoffirstn, 2nand 3nterms of anAPareS,, S, &S, respectively PTS,= 3(S, - S,).

32) If (m+1)t™ term of an A.P is twice the (n+1)th term;, them prove that (3m +1)%"
term is twice the (m+n+1)" term.

33) There are 12 pieces of five, ten and twenty rupee currencies whose total
value is Rs.105. When first 2 sorts are inteérchanged in their numbers its
value will be increased by Rs.20. Find the no. of currencies in each sort.

34) If the roots of the equation (c2 -~ ab)x? - Zgaz - bc)x + b2 - ac = 0 are real
and equal. P.T either a = 0 (or) a® + b3 +c® = 3abc.

35) PQis a chord of length 8cm to acircle of radius S5cm. The tangents at P and
Q intersect at a Point:T. Find the length of the tangent TP.

36) Find the equation of the median and altitude of AABC through A where the
vertices are A(6,2), B(-5, -1) &(1, 9).

37) Findthe area of the quadrilateral formed by the points (-9, 0), (-8, 6), (-1, -2) and (-6, -3)

38) The horizontal distance between two buildings is 140m. The angle of depression of
the top of the first building when seen from the top of the second building is 30°. If
the height of the first building is 60m, find the height of second building ( /3 =1.732)

39) Atoy is in the shape of a cylinder surmounted by a hemisphere. The height of the
toy is 25cm. Find the total surface area of the toy if its common diameter is 12cm.

40) Water is flowing at the rate of 15km per hour through a pipe of diameter
14c¢m into a rectanglar tank which is 50m long and 44m wide. Find the time
in which the level of water in the tanks will rise by 21cm.

41) The rainfall recorded in various places of five districts in a week are given
below. Find its standard deviation.

Rainfall (in mm) 45 50 55 60 65 70

No. of places 5 3. 4 9 5 4

42) A passenger train takes 1hr morethan an express train to travel a distance of 240 km
from chennai to virudhachalam. The speed of passenger train is less than of an

express train by 20km per hour. Find the average speed of both the trains.

PART -1V
Answer all the questions. 2x8=16
43) a) Draw APQR such that PQ = 6.8cm, vertijcal angle is 50° and the bisector
of the vertical angle meets the base at D where PD = 5.2 cm. (OR)

b) Construct a triangle similar to a given triangle PQR with its sides equal to

7/3 of the corresponding sides of the triangle PQR (Scale factor 7/3 > 1).
44) a) Draw the graph of xy = 24, x, y > 0. Using the graph, find

(i) y when x = 3 and (ii) xwheny =6 g
www.wabjddraw¢he.graph of y = x? +3x 482 and use it to s%@@@img-m&d'com
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Namakkal
i SECOND REVISION TEST - 2023
Reg
10 Std MATHEMATICS bl '
Time: 3.00Hrs o - Marks : 100
Namakkal district
PART - | '
Answer All the questions: 14X1=14

1 If there are 1024 relations froma setA={ 1, 2, 3,4,5}to asetB. Then the .
number of elements in B

a) 3 Y2 AV d)8

2. If f:A - Bis a bijective function and if n (B)=7 then n(A)is equal’to

* a7 b) 49 c) 1 d) 14

3. If HCF of 65 and 117 is expressible in the form of 65m-117,then the value of m is
Na4 0 B2 g d)3

5, The value of (13+2“+33+.._|........+153) = (LF2F N s +15)

a) 14400 b) 14200 ¢y 14280 d) 14520

5. Which of the following should be added to make P 64 a perfect square
™ a)4x2 16.x2 _ c) 8% d) -8 x2

6. If number of columns and rows are not equal in a matrix then it is said to be a
~"a) diagonal matrix b)Fectangular matrix

c) square matrix d) identity matrix
7.1n ALMN ,|L = 60° M = 50°, If ALMN ~ APQR then the value nfL is
7 a4 700 6)30° d) 1100
8. The area of triangle formed by points (-4, 0 ), (0, -4} and (4,0) is
*.a) 0.sq.units b)/ﬂ-:‘rsq units c)4 59 units  d) None of those

4
9 If slope of the line PQ is —= ‘then slope of the perpendicular bisector of PQ is

a) 3 b} 3 c)ﬁ d) 0

.

10* - Maths -SR-NKI.- Page-1
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10.1f sin@= cos® then2tan2 @+sin” H—1is equal to

7 a2 b) 3 c) d) 2

11 The curved surface area of a height circular cone of leight 15 cm and base
diameter 16 cm is
2)60 Tcm?  b)687cm? | c)1207cm?  d)y1367cm ?

12. A Spherical ball of jadius 1, units is melted to make 8 new identical balls each

~ ofradius r, units Thenr,:r, is

a)@:-*i' b)1:2 c)4:1 d)1:4
13. Variance of first 20 natural number is
“a) 32.25 b) 44.25 c),33.25 d) 30

14. which of the following is incorrect?
- a) P(A) >1 b)0 < P(A) <1 c)P(¢)=0 d)P(A)+PA)=1

PART - Il
Answer any 10 Questions. Question No.28 is compulsory. 10X 2=20

15 LetA={1,2,3}and {B =x/xis a prime number less than 10}. Find AXB
and BXA

16.1f A={-2-1,0,12}andf:A—> B is an ontd:function defined by
f( +)=x2+ x+1then find B.

17. Solve 3x-2=0 (mod 11).

18. Find the LCM of (5 x-10); (§x2-20) .
19. Find the quaratic equation whose sum and product of roots are -9, 20
2 - - =) 3

- r'I'.f AR Xt Reo N iR A D N
543 A
|
20. If A=|1 =79 then find the transpose of A & h
I8 2 © |

21. In the\Figure AD is the bisector of LA If BD=4cm, DC=3cm g 4. D. s C
AB=6Bem, Find AC
27 |f thesthree point (3,-1) (a,3) and (1,-3) are collinear. Find the value of a

: . KU
23 Find the equation of a line passing throught the point (3-4), and having slope
A,

7 1'-.\_:
10" - Maths -SR-NKL- Page 5
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24. From the top of a rock 50./3 m high Thes angle of depression of a car gy, the
ground is observed to be 30° . Find the distance of the car from the rock. f
25. Find the diameter of a sphere whose surface area is 154 m(Ej T _E’N 28 )‘
26. It the lange and the smallest value of a set of data area are 36.8 and 13 .4
respectively, then find the largest value.
27. Two dice are rolled together Find the probability of getting a doublet?

PART -1l

Answer any 10 Questions. Question No.42 is compulsory.
29, Let A={ xew/x<2} K B={xeN/{i<x<4}and C={3, 5} verify.

AxBnO)=AxBI(AXC) (o 1-Dbii) (P ¢ )
30. If f{(x)=x%,g(x)=2x and h(x)=x+4 slow that (fog) oh = (fo){goh) ([ sk KMy
31.Jn a GP the 9" term is 32805 and 6" term is 1215. Find the 12"term(2-7)6 (P77

32. Rgm has 15 'square colour papérs of size 10 ecm , 11 cm,
J26M..orssrssssnsansinnny 24cm. How much area.can be decorated with these

colour papers ? {L@ﬂ)é U)’\ e ,}
33 If 36x-60x"+61x" —mx+n is a perfect sguare Find the values of m nd n(? 3)’2 )

34, If A=(1I :‘J,B:(__d }2] 1(;:[ 37 S] uerlfythat A(B+C)=AB+AC Eﬁ 7 75_)4\, (52)

35. State and prove angle bisecetor theroram
36}( triangular slaped glass of with vertices at A*-( 5 ~4), B=(1,6) and C=(7, -4) 5
has,to be painted. It one bucket of paint covers 6 square feet, how many buckels (o)

of paint will be‘reguired to paint the whole glass if only one coat.of paint is appliedpn

10 X5 =50

G? A (-3; 0) B«(10, -2') and C (12, 3) are the vertices of a triangle ABC. Find the@‘ 2)
equation of the altitude through Al S . 7 ’“ N ~23% )
38.If smﬁ(l+sm2 9):(:0529 then prove that c056€—4cns4+8r.:0529=4 (é u‘cfj';‘()mijf{g

(39. ‘The radius and height of cyllnder are in the ratio 5 .7 and its curred surface area
is 5500 sq cm Find its radius and helght F o '7 l <l @N’)_? 7_)

10" - Maths -SR-NKL- Page-3
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40.A solid sphere of radius 6 cm is melted into a hollow cylinder of uniform thickness.
If the external radius of the base of the cylinder is 5 cm and its heightis 32 cm,
then find the thickness of the cylinder Lb)ﬁ 76T (P~ 297 )
41. The marks scored by 10 students in a class test are 25, 29,
30,33,35,37,38,40,44, 48 Find the standard devnatlon[-gj oo,(jj/( )N 208 )
4?2 There unbiased coins are tossed once. Find the probability of getting at must.2
tails or atleast 2 heads.

PART -IV
Answer the following. ' _ 2X8=16

43.a) Construct a APQR such that QR = 5cm [P = 30%and the alfitude from P to
QR of length 4.2 cm !
. (OR)
b) Draw a circle of diameter 6 cm from a point P, which is_8 cm away from its
centre. Draw the tangents PA and PB to the circle and measure their lengths.

44. a) Draw the graph of y =x’- 4 and'hence solve x> —x—12=0

1 | (OR) .
l bad .
b) Graph the following linear function y = 3 X Identify the constant of variation
2 and verifty it with the graph. Also find y when x=9
| ii) find Xwhen y = 7.5
2
2z
23
10" « Maths -SR-NKL- P#*
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Tirupattur

FIRST REVISION EXAM - 2023
STD-X MARKS : 100 -
TIME : 3.00 Hrs .MA.THS .
PART - |

1. Answer all the questions.

1.

14x1=14

The range of the relation R = { (x,}) x is a prime number less than 13}is
a) (23,57} b)(2,3,57.1} ©){4,9,2549, 121} d){1,4,9,2549,121}
The domain of the function f{xji =1/x(x+1)is '
a) {0,-}  bB)R-{0,-1}  cR-{0) dR-{1)
The next term of the sequence 3/16, 1/8, 1/12, 1/18is
a)1/24  b)1/27 c)2/3 d) 1/ 81
if 10th term of A.P. is 52 and 16th term of A P. is 82 then the nth term of this A.P.iis
ayn+2 b) 5n-2 c) 5n+2 d) 5n
Which of the following should be added to make x* + 64 a perferct'sguare
a) 4 b) 16x* - c) Bx? d) -8«

-1
IfA=(1-23), B=| 2| thenA+B"=?

-3 0

a) (000) ' bjg " ©(248p,  d)not defined

If in AABC is an isosceles triangle with £C = 99“ and AC=5cm, thenAB is
a) 25cm . b) 5cm c)10em d) 5/ cm

"If Als a point on the Y.&xis whose ordinate is 8 and B is a point on the X axis whose

abscissae is 5 then the equation of the line AB is . |
a) 8x + 5y =40 b)8x - 5y = 40 c]x-=8 dy=5
The area of quadrilateral formed by the points (-1, 1), (1, 1), (1,-1) and (-1, 1) is
a} 0.sg. units b) 4 sq. units ¢) 25 sq. units d) 1sq. units

10, a cot 0.+ Bieot 0 = p and b cot 8 + a cosec 8 = q then p? - g* is equal to
o) a?-b? byb2-at  c)at+b? d)b-a

.

12.

The total surface area pf a hemi-sphere is how much times the square of its radius
aln - b) 4n c) 3n d) 2n _
If the radius of the base of a right circular cylinder is halved keeping the same height, then
the ratio of the volume of the cylinder thus obtained to the volume of original cylinder is
2)1:2 b)1:4 c)1:6 d)1:8 -

10 - MATHS - PAGE 1
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13. Variance of firat 20 natural numbers in

a) 3225 b) 44.25 ' ¢) 33.25 d) 30 If
14 Kamalam went 1o play a lucky draw contest 135 lickets of the lucky draw were gold. If the
o tickets bought by kamalam

probability of kamalam winning I 1/9, then number of

a)5 b) 10 ¢) 15 d) 20
«  PART-Il

ulsory 10x2=20

Answer any Ten Questions. Q.No. 28 is comp
LetA={1,2 3,4, e 45} and R be the relation
domain and range of R.

d the values of a and b given than

defined as “is square of a number” on

15.
A. Write R as a subset of AXA. Also, find the

16. Let  ba a function from R to R defined by f(x) = 3y - 5. Fin

(a, 4) and (1,b) belong to [.
17. 'a’ and ‘b’ are two positive integers such that a"
18. If 3+k, 18-k, 5k+1 are in A.P. then find k
19. Find the square root of the following expression. 144 a’b*c' 811 g*
20. Find the sum and product of the roots of the following quadratic equation - K2 -Kix-2k*=0
21, Aman goes 18m due east and then 24m due north. Firid the distance of his current position

% b* = 800, Find ‘a’ and ‘b’

hlll

from the starting point,
22 Find the area of a triangle formed by the points.(5, 2):(3, -5) and (-5, -1)

'23. Calculaté the slope and y Intercept of the straighit fine 8x - 7y + 6=0

' 24. Prove that sec () - cos 0 = tan 0 sin 0
25. If the base area of a hemispherical solid is 1386 sq. meters, then its total surface area?

26. If the range and the sma_ll_e_rs_t value of a set of data are 36.8 and 13.4 respeclively, then find
the largest value.
27. Adie is rolled and a coin is fossed simultaneously. Find the probability that the die shows an
odd number and coin shows a head.
28. From the top'efa rock 50,/3m high, the angle of depression of a car on the ground is
observed to 30°, Find the distance of the car from the rock
PART -l
Answer any Ten Questions. Q.No. 42 Is compulsory
29, Find x if gff(x) = =
29. Find x if gff(x) = fga(x), given f(x) = 3x + 1 and alx) = x + 3.
30. Let A -» B be a function defined by f(x) = x / 2 - 1 where A= {2
. . W = .4. — .
Represent fby (i)set of ordered paris (i) a table (iii A
¢ (iii) An arrow diagram

10x5=50

1,24,59}.
(iv) A graph

10 - MATHS - PAGE 2
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31. Amother divides Rs.207 inyq three parts such that the amount 2ré in A.P. and gives it 1o here
three children. The product of the two Jeast amounts than the children had R 4623, Fing the
amount received by each chld.

32. Find the sum fo 'n’ terms of the SEres 7+ 7747774 cvecrcraeens

33. Find the GCD of 6x* - 30x? + 60x - 4B and 3x> - 1247 4+ 21x - 18

rﬂ=[1 IJ gef * ] g 1-E
. -1 3]'" |-4 2 C:[3 szerifytham(B+C}=AB+AC.

35. State and prove the Basic proportionality theoram.-

3. Find the equation of the median and alttude of AABC through A where the verticeS are.
AB.2), B{-5-1) and C (1, 9),

37. Two ships are sailing in the sea on either sides of alighthouse. The angle'0f elevation of the top
of the lighthouse as observed from the ships are 30" and 45 respectively. If the Jighthouse is
200m high, find the distance between the two ships. (v3=1732)

36. Atoy is in the shape of a cylinder surmounted by a hemisphere. The height of the toy is 25cm.
Find the tolal surface area of the toy of its common diameler is 12cm.

39. An aluminium sphere of radius 12cm is melted tomake a cylinder of radius 8cm. Find the height
of the cylinder.

40. Find the co-efficient of variation of 24, 26, 33,37, 29, 31
41. Two dice are rolled. Find the porbability thal the sum of outcomes is (i) equal to 4 (ii) greater

than 10 (iii) less than 13
42. If -4 is a root of the equation x? + px -4 = 0 and if the equation x* + px + q = 0 has equal roots,

find the values of p. andgq.
' PART - IV

Answer all the Questions. 2x8=16

43. a) Construct a smiliar triangle to given triangle LMN with its sides equal to 4 / 5 of the
corrégponding sides of the triangle LMN. (Scale factor4/5 < 1)  (OR)
b) Take a point which is 11cm away from the centre of a circle of radius 4 cm and draw the
two tangents to the circle from that point. |
44, a) Graph the following linear function y = 1/ 2x. Identify the constant of variation and verify it
with the graph. Also (i) Find y when X = 9 (i) Find xwheny=7.5 (OR)
b) Draw the graph of y = 2x? and hence solve 2% -x-6=0.

10 - MATHS - PAGE 3
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unagar
ViOM rudhunagar District Common Examinations [ 1]
Second Revision Test - February 2023 L]
Standard 10
Time: 3.00 Hrs. MATHEMATICS Marks: 100

Note: i) Answer ALL the questions.

PART -1
14x1=14

ii) Choose the correct answer from the four alternatives and write the

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

option code and the corresponding answer.
A=4{a, b p},B=4{2 3}, C={p, q,rs}then n[(ALC)xB] is
a) 8 b) 12 c) 20 d) 16
Ifg={(1,1), (2, 3),(3,5), (4, 7)} is a function given by g(x) =@x+f then
the value of a and j are
a) (-1, 2) b) (2, -1) c) (-1, -2) d) (1, 2)
The sum of the exponents of the prime factors in the prime factorization of
1729is
a)l b) 2 c) 3 d) 4
The first term of an arithmetic pragression is.unity and the common
difference is 4. How many terms of the A.P must be taken for their sum to
be equal to 1207
a)6 b) 7 c)8 d)9
If (x-6) is the HCF of x2-2x~24 and x*<kx-6 then the value of k is
a) 3 b) 5 c) 6 d) 8
Which of the following must be:added to make x*+64 a perfect square?
a) 16x? b) =16x* c) 16x d) -16x
In the figure ST || QR, PS = 2 cm and SQ = 3 cm then the ratio of the area

of APQR to the area of APST is

Q
S/
A\
/N N\
P< L R "R
-
a)25: 4 b) 25:9 c) 4:9 d) 9:4

A man walks near a wall, such that the distance between him and the wall is

10 units. Consider the wall to be the y-axis. The path travelled by the man is

a)x=10 b)y =10 c)x=0 dy=0

(2, 1) is the point of intersection of the straight lines

a) x-y-3 =0; 3x-y-7 = 0 b) x+y = 3; 3x+y =7

c)3x+y =3; x+y =7 d) x+3y-3=0; x-y-7=0 .

is 60m high. Its shadow is x metres shorter when the sun's altitude

A tower

is 60° than when it has been 45° then x is equal to

a) 34.64m b) 25.36 m
d) 36.25m

W.Waytﬁlﬁé'cgés%rg 26 wtsteam 100@gmail.com
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V10M . | |
11) If the radius of the base of a right circular cylinder Is halved keeping the

same height, then the ratio of the volume of the cylinder thus obtained to
the volume of original cylinder is
a)1:2 b) 1:4 c) 1:6 d)1:8

12) The volume (in cm?) of the greatest sphere that can be cut off from a
cylindrical 10g of wood of base radius 1 cm and height 5cm is

a]‘;‘ﬂ b) 139:: c) 5n d) 2?0“

13) If the standard deviation of x, y, z is p then the standard deviation of 3x+5,
3y+5, 3z+5is
a) 3p+5 b) 3p C) p+5 d) 9p+15

14) Kamalam went to play a lucky draw contest. 135 tickets of the lucky.draw
were sold. If the probability of Kamalam winning is 1/9, then the nurnber of
tickets bought by Kamalam is
a)s b) 10 c) 15 d) 20

PART - 11
Note: i) Answer any TEN questions. ' 10x2=20
ii) Question No. 28 is compulsory.

15) LetA = {1, 2, 3} and B = {x/x is @ prime number less than 10} find AxB and
BxA. _

16) A Relation R is given by the set {(x, y) / y = x+3, xe {0, 1, 2, 3, 4, 5}.
Determine its domain and range.

17) Find the HCF of 340 and 412 using Euclids Division Algorithm.

18) Solve: 8x=1 (mod 11) .

19) Find the excluded value of the polynomial 2—t— ,

t“-5t+6

20) If a and B are roots of the quadratic equation x?+7x+10 = 0 then find the

value of a*-p°. :

0 4 9 7 3 8
21) IfA={ ]and B=[ )then find B-5A.

8 3 7 1 49
22). In the figure, AABC is circumscribing a circle. Find the length of BC.
"'..A
N’/_h"\
] WG
hS Mo
B —— S C

L
23) The line through the points (-2, a) and (9, 3) has slope -1/2. Find the value

W.Waﬂggﬁccess.org 27 wtsteamllﬂﬂ@gmai_l.com



WAY TO SUCCESS
viOM 3
, 24) Prove: SinA SinA -
1+cosA g 1-cosA raabech
25) The radius of a spherical balloon increases from 12 cm to 16 cm as air being
Pumped into it. Find the ratio of the surface area of the balloons in the two
cases,
26) Find the range and co-efficient of range for the data
43.5, 13.6, 18.9, 38.4, 61.4, 29.8
27) A coin is tossed thrice. What is the probability of getting two consecutive
tails?
28) The slant height of a frustum of a cone is 5 cm and the radii of its ends are
4 cm and 1 c¢m. Find its curved surface area.

PART - 11X
Note: i) Answer any TEN questions only. 10,5=50
i) Question No. 42 is compulsory.

29) A function f is defined by f(x) = 2x-3. (i) find @;—@ (if) find x such that
f(x) = 0 (iii) find x such that f(x) = x (iv) find x such that f(x) = f(1-x).

30) Prove (fog)oh = fo(goh) for the functions f(x) = x-4, g(x) = x? anq
h(x) = 3x-5.

31) The 13" term of an A.P is 3 and the sum of first 13 terms is 234. Find the
sum of first 21 terms. '

32) If a, b, ¢ are three consecutivé terms of an A.P and x, y, z are ‘hree
consecutive terms of a G.P, then prove that x°€ x y<2 x 22 = 1,

2 =3

33) IfFA= = 1) and B=|~1 4 | then verify (AB)" = B'AT.
2 -1 2 0 2

34) State and prove Angle bisector theorem.
35) Find the equation of a straight line passing through (-3, 8) and whose sum

of the intercepts on the co-ordinate axes is 7. . .
Find the eguation of a straight line through the point of intersection of the

) lines 8x+3y = 18, 4x+5y = 9 and bisecting the line segment joining the points

—4 and (—71 6)' X
,(o.s"rv 1?ower stands vertically on the bank of a canal. The tower is watched

oint on the other bank directly opposite to it. The angle of elevation
fronva p is 60°. From the another point 20m away from this point on the
 OF th-e S :5 oi-nt to the foot of the tower, the angle elevation of the top
i t~ ' 3‘())0 Find the height of the tower and the width of the canal.
ke towe;lsweig;ht of the hollow brass sphere if the inner diameter is

25} Calcuiats tt:ickness is 1mm, and whose density is 17.3 g/cm’.
i apd lar cylindrical container of base radius 6 cm and 15 cm is full of
9 Aghticiee ce cream is to be filled in cones of height 9 cm and base

. . The i
ice creamm having a hemispherical cap. Find the number of cones needed
cm,

ius 3
www.way:tjge{?s;ﬁsf LScontainer. 28 wtsteam 100@gmail.com
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40) The mean and standard deviation of 15 observations are found to be 10 and
5 respectively. On rechecking it was found that one of the observation with
value 8 was incorrect. Calculate the correct mean and standard deviation if

the correct observation value was 23.
+1) From a well shuffled pack of 52 cards, a card is drawn at random. Find the

probability of it being either a red king or a black queen.
42) Find the GCD of 6x*-30x"+60x-48 and 3x*~12x?+21x-18.

PART - IV
Note: Answer ALL the questions. 2%8=16
43) Draw a circle of diameter 6 cm. At a point L on it draw a tangent to the
circle using the alternate segment theorem.
(OR)
Draw the A\ABC of base 1 BC = 8 cm, £A = 60° and the bisector of A meets
BC at D such that BD = 6 cm.
44) A bus is travelling at a uniform speed of 50 km/hr, Draw the distance «time
graph and hence find
i) the constant of variation.
W) how far will it travel in 12 Holrs.
iii) the time required to covera distance of 300 km from the graph.

(OR)
Discuss the nature of Solutians of the quadratic equation x?+2x+5 = 0 using
graph.
29 wtsteam 100@gmail.com
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COIMBATORE
CLASS 10 ,
REG.NO LT T TTT1
COMANON HEY IS10™% EXAMINATION = FERRUARY / ALAKCTH 2023
MATHEMATICS
TIME: 300 H ry WIARK S 1
Instroctiond:

(i1 Check the guestion paper for fairness of printing, If there is any lack of
fairness,  inform the Hall Suporviser immediately.

il U'se Blue or Black ink. fo write and underline and pencil ta draw disgrama,
This Questhon Paper contains foar parts.
PART -1
NOTE:  (0) Answer all the 14 questians, 145 1=

{1} Chudrse the most suitable answer from the given loor alternatives and write
ihve aption code with the correct answer.

{iii) Each question carries | mark.

L LatA=112 5 41 and B= (4, 89000 A funcrion [: A — B given by
F= (i1 S B3040} isa
i &) Many-one function (B) Identity function
{C) One-to-one function (13} Into function

| Given = | . F==3 and Fye Foy = For then Fois

(A3 183 (CHs Dill

IFA=2"and B=2™-2 -2 i 2which of the following is true?
(A} Bis 2™ more than A (B) A and B are equal |
(€) B is larger than A by | (D) As larger than Bby | |
4, The values of aand b iF4 x *—24x '+ Tha * + an +b is 4 perfect sou h."arc*'-

L

[A) 100,120 {B) 1012 (Cy-120 100

] If number of columns and rows are mot equal in @ matrix Jhng it is-tmid to be o
(A} diagona| matrix (B} rectangular mairix
{C) square malrix (D} identige matrix 4

f. In a given figure ST IOR, PS =2 cmand 50 =3 em. 'H:cn
the ratie of the area of APQR to the area of .&Fﬂl
(A)25-4 (B)25-7 (C135: 11 ;D;- 28 ?‘3

7 The stope of the hne joining (123, I‘I-ﬂl:ﬂ- Th:vn.lqu{‘ s

1ALl (Bid {C‘ﬁh‘ D)2
8 I slope of the line PO is — ,.] lhm;hpeﬂftﬁfpcrp:ﬂﬂ:whrbunmrn”ﬁl is
(A) 3 (B - \ u:l;,,,- (D)0
-
9, If 5% = see E‘:md-—l:m&q'hen i’.ﬂﬂmunl to

2

(A) 25 IEI"" s, it (o1

wvw, waytosucecess. org
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L

Iy The listal surface area ol 2 :ylinﬁ.-\:ﬂf & r:dlus L Lofits height is
f\.]'ﬁ squnits (B) !l—n';I ;am'iﬁ 1"!:':—;': squnits (D] Smh”

I L. T'hr: heigzht and r.;:husé:l’llﬂ:  of Wich the frustum is a p:u"t are ]'I'| units and
Fiunits respectively. Pw,uﬁg: ﬁ;u!tum 15 he units and radius of the smaller
brase s reunits, [Pfgg hy = | "'-:hc;rf fify 05
(A)1:3 7 . (Bl g u:u [ 3

12 The prubal‘ﬂ'lhar uﬁﬂumgl Ju-‘h for a persen u- —, If the probability of not

geﬂl,pg‘iht-;ub %ﬁh:n.ﬁle value of x is

S tmats

(Af2 (C)3 D) 13
130 IFB<A= 'i?..!ll.{,‘j." |,|:3,5:,{-L!:.14.2!.44.3:' then A is
AN (B B (©)11.2.3: (D) 14,34
The mﬁﬁy af an impossible event is
(A) I1 iB)2 icr-l Do
PART =11

ﬁﬂﬂ 4;5;#“ any 10 questions. QuestionNo.28 is compulsory. 10=2=20

"*.-_15. Finda =B, A=A A=[m.n] [ B=@
M6, LetA={12.3,4!and B=NLet (- A —B bedefined by f(x)=» *then,

{1} find the range of Fin) identify the tvpe of function

17, A man hos 332 fower pots, He wants to amange them in rows such thot ezch
row containg 2| flwer pots. Find the sumber of completed rows and how
many flower pots are left aver.

8. Find the number of terms m the AP, 36,9, 12, ., 111
1%, Find the excluded values of the expression, ._—_L__.

20, Ifa matrix has 1% elements, whot are the possible orders it can have? Whar if it
hos & clements?

i, The length of the wngent o a ciecle from a point P, which 15 23.cm away from
the centre is 24 ¢m, What 15 the radis of the circle?

11, Find the slope of o line joining the miven poines (-5.11and i-3.3)
23 Prove thut se¢ 8 —cos 8 =tan @ sin @

2 Find the angle of elevatwon of the top of a wower from o ponton the ground,
which is 30 m away from the foot of a tower of height 103 m.

25 The curved surface area ofa right circular eylinder of height 14 em s
A8 e . Find the dizmeter of the cvlinder.
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26 Fund the rangr of the Salirm my detrdetion A T dves v poltenl o B ity oF gettinyg am aven number on the
[AgGngean)  Tieih AN TNH THSNT NS [ ] Firen . i 4 ool 1 oo i &
Number of e 4 B " 3 B E ) 11 Fissld b dewy o8 e o1 are
| students
S - e ———— = . ER L TN L T (i
27 Famd the sarrocpes mande B Bae e @y <0y 17 = 0 on the conmdinale si e
B Acom e el Brew Wt n e probaeiey of gEming Ty consecutive Wil ® b
P Anvwar ail : 1=N=1s
R i L L, T ] M mhm:pmwm-ﬂhumh:wu
-~ Lera= man Ak FrnEaN b gl C o EN Tnel “'.“ﬂr*m#m tﬂhﬁﬂ;*l.’l
Thes veeds Bl & =08 L Oh=q4 = B L aa =y ABC of s B0 =3 om, L4« 47 and rhe Bisecior of L4 mevls
sl that 80 =4 am,
M Fracssdposs mivosh S femwh fagabcidapeh wheal anmounces that for 3 cortun compennons. Be 2aah prcs «dl be
L1 FEEDS soonte ws = swms o o AP yshos irsd lerms are i ““'M'@I"mm =
125 = e whowe commes fimsaces are [ 04 (D=1} I“" n”":_'"“ :m ML ‘! {_..
- 1 |ﬁ-1ﬂl-m'l lIH F 'l .1
el el TNl 4, + 3, + 8, *8e = ma(mn+ 1), |f.-m:wml'|y|
n EFielsds -n = ame e bl o (1) Find the constant of sarstion
13 Fende e s diy hod lulﬂcw:‘mm-h:::fmum-im#-lmmd
T -Ma =da"s LCp= LY Drvaw the graphaf s = 2v - § v -4 umd e wive 5x' i - 4 =3 _:
M The tomemense of &ttt mgied mangle s | o ond s penimctet p
Fom oo engty o Du ermaleey wde -
11 o s proer Bass Proporuemgios Tooeen
Jo Fonu ow sguaas o Eagts baw Se g Dar
i Wy =2 e vIy = B el peerpeniocciar b e liter & -
1 From D iy of 5 g Sy gagic of oof twts ibps
IPERSs Seden o 7 8 teereed b b KT et Tee loti gt of
lophflony = b AREsT Sl e v poetteg Wirmigh B e ulf
o lopiieees Stere Ty M Jotats v bt uE-
M Ar mouanc sells e s 0 il thie ol b gl ¢k
ot whuns b aA e (ananeT . & 0t s Bt s 4
e Fod e corvad st wata
I8 Asohd aplery of ratie 4 il oyl ol s i
Wichiers | i orieTine Pl o pliiedes ap T ui aied o teagiel
i 20 o ther find o pialeibed
i The marks scosed by [0 Pk ww gt 18 D B B3 M T M M

43 45 Find the stancduid da
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Reg.No.: | | [0 | Q Q_' 7

COMMON SECOND REVISION TEST - 2023
Std - X

Time : 3.00 Hours MATHEMATICS > Marks: 100

l.

Part-A

Answer all the questions. Choose the most suitable answer from the given four
alternatives and write the option code with the corresponding answer.

14x1=14
1 ,

If f(x) = 2x* and g(x) = 3 then fog is

3 2 o B i ’
9 o2 0):ag2 c) oxZ 9 62

1 1 . N

Ina GP.ift = 5 andt, = 25 then the comman ratiois .......

1 | | 2
a) : b) 5 c) 25 d) 5

The value of a and b if 4x*- 24x® + 76x? + ax + b is a perfect square are

a) 100, 120 b) 10; 12 c) -120, 100 d) 12, 10

In a AABC, AD is the'biseetor of £BAC. IfAB =8 cm, BD = 6 cm and DC = 3cm. The
length of the side AC is .
a) 6cm b)4cm c) 3cm d) Bcm

A straight line has equation 8y = 4x + 21. Which of the fullwiing is true '?

a) The slope is 0.5 and the y intercept is 2.6

b) The slope is 5 and the'y intercept is 1.6

c) The slope is 0.5 and the y intercept is 1.6

d) The slope is 5 and the y intefcgpt is 2.6

a cotf + b cosec 6 = pand b cot B + a cosech = q then p? - g* is equal to

a) a’- b? b) b?-a* c) a? + b? d)b-a

A shuttle cock used for playing badminton has the shape of the combination of
a) a cylinder and a sphere b) a hemisphere and a cone

c) a sphere and a cone d) frustum of a cone and a hemisphere

The standard deviation of a data is 3. If each value is multiplied by 5 then the new |

variancEer waytosuccess org 13 13 wtsteam 100@gmail.com
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2 10-MAT

The probiabillly of getting a job for & person is - . If the probability of not getting the job

2
IS — then the value of x is

3

a) 2 b) 1 c)3 d) 1.5

If in triangles ABC and EDF, EE=FE then they will be similar, when

a) ZB= LE b) ZA= 2D .€) £B= £D d) ZLA= £F

A tower is 60m height. Its shadow is x metres shorter when the sun’s altitude is 45°
than when it has been 30°, then x is equal to .

a) 41.92m ‘b) 43.92m c) 43m
The straight line given by the equation x = 11 is _
a) parallel to X axis b) parallel to Y axis c) passing through the origin

d) passing through the point (0, 11) :

d) Itl».5.t'-3m

1 2 -2 1 8 ‘@
= P 7 i
. }"\_\ ¢ ¢
2 10 2.10 -2 O/“‘
a) § 0 b) 8 0§86 c) not possible to add d) none of these
6 8 6 8/ 9 .

A cone of height 24 cm is-made up of modeling clay. A child reshapes it in the form of

a cylinder @ same radius as cone. The height of the cylinder is
a) 3em b) 9 em c) 6. cm d) 12 cm
Part-B '

10x2=20

Answer any 10 questions. Q.No. 28 is compulsory:
=R.

A'telation f: X —Y is defined by f(x) = x? - 4 where, xe{-2,-1,0, 3}and Y

i) List the elements of f i) Is f a function? _
A function f is defined by f(x) = 3 - 2x. Find x such that f(x?) = (f(x))?.
Prove that 2" + 6 x 9 is always divisible by 7 for any positive integer n.

Find thesum :3+ 1 + §+ veres OO
. xz +6x+8 3
Which rational expression should be subtracted from W

Thewpradusd abusaansage (in ygarg) two W%ﬁ%ﬂ%@%@&ﬁ%mﬁ from

now is one more than twice his present age. What is his present age?
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21 If the total surface area of A cone of ridius 7 om is 704 cm’ then find its slant height

2 Thg I+nf_~ through the points (-2 8) and (4, 8) I8 perpendicular to the lina through the
points (B 2) and (. 24) Find the value of x

f
73 Prove the following identities 1m:mn = gech - tanf

24 ,Find the nurr_nt:ner of spherical lead shots each of diameter 6cm that can be made from
a solid cuboids of laad having dimensions 24cm x 22 cm x 12 cm

25 n=5 x =6 ¥ x? = 765 then calculate the coefficient of variations.

26 A and B are two candidates seekig admission to IIT The probability that A getting
selectad 1s 0 5 and the probability that both A and B getting selected-is 0.3. Prove that
the probability of B being selected is atmost 0.8

- - T 3 4 '
27 Find the equation of a straight line perpendicular to theline y = 7~ 7 and passing

through the point (7, -1)
28 Two vertical poles of heights 6m and 3m are erected above a horizontal ground AC.
. Find the value of y. Z — A

Part-C
. Answer any 10 questions. G.No. 42 is compulsory: 10x5=50

29 GivenA={123}.B={235.C={3.4andD={1, 3, 5} check if (ANC)x (BN D) =
(A xB)T) (CxD)is true? '

30 Forensit scientists can determine the height (in cm) of a person based on the length of
the thigh bane. They usually do so using the function h(b) = 2.47b+54.10 where bis
the length of the thigh bone.

i) Verify the function h is one - ané of not.
\ i) Adso find the height of a person if the length of his thigh bone is S0cm.
+ iii) Find the length of the thigh bone'if the height of a person is 147.96 cm.
3;1 Use Euclid's Division Algorithm to find the Highast Common Factor (HCF) of 396, 504,

636.
92 A brick staircase has a total of 30 steps. The bottom step requires 100 bricks. Each
successive step requires two bricks less than the previous step.

i) How many bricks are required for the top most step? ),

ii) How many bricks are required to build the stair case? . iy v
3J. Solve the following system of linear equations in three variables. QJ

x+y'+z=5.2:-y+z=9..x-2y+32=1ﬁ v

www wayiosurcess org 1515  wisteam 100@gmail. com
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M. If o Bamthemutsaf?xz+ax+Z-Dandifﬂ = —?— Find the values of a.

115 State and prove Baudhayana (Pythagoras) thenrem

36. The area of a triangle is 5 sq. units. Two of its vertices are (2, 1) and (3, -2). The third
vertex lies on the line y = x + 3. Find the third vertex.

37. Find the equation of the median of AABC thmugh C. Where the vertices are A (6,2), B
(-5,-1)and C (1, 9)

BE The angles of elevation and depression of the top and bottom of a lamp post from'the
top of a 66m high apartment are 60° and 30°, respectwely Find
i) The height of the lamp post.

ii) The difference between height of the lamp post and the apartmerit.
iii) The distance between the lamp post and the apartment (/3=1.732)

39. A metallic sheet in the form of a sector of a circle of radius 21cm has central angle of

216°. The sector is made into a cone by bnnglng the bounding radii together. Find the
volume of the cone formed.

40. The marks scored by the students in a slip test are given below. Find the standard
deviation of their marks. '

.

X 4 6 8 10 12
¥..1 3 k-, 9 ]

/ ab 1 0}
M. IfA= c d and|= g™ show that A - (a +d) A = (bc - ad)l,

4,’-1’ If two dice are rolled; then find the probability of gettlng the product of face value 6 or
the difference of face values 5.

Part-D
IV. Answer the fullowing questions: ! 2x8=16
43. a) Take a point which is 11 cm away from the centre of a circle of radius 4 cmand draw -
the two tangents to the circle from that point. (OR)

b) Cbrpstmct a triangle APQR such that QR = 8 cm, £P = 30° and the altitude from P
to @R is of length 4.8cm.

44. a) Draw the Graph of y = x? - 5x - 6 and hence solve x* - 5x - 14 = 0 (OR)
b) A two wheeler parking zone near bus stand charges as below.
Time (in hours) (x) 4 8 12 24
Amount %(y) ; 60 120 180 360

Check if the amount charged are in direct variation or in inverse variation to the parking
time, Graph the data. Also

i) Find the amount to be paid when parking time is 6 hr.
ii) Find ThE BEKiAg tifiatioR When the aifficht paid is"egpa 1 00@gmail.com
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